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ni; , 720,070 6,569,109 150,961
= 170,610 163,302 7,308
Jl ,876,906 1,861,043 15,863
= 63,000 63,000 0
< 575,394 548,461 26,933
Al ,034,160 3,933,303 100,857
Al gg 2sH(EA/BAE) ,651,249 6,500,288 160,961
= 170,610 163,302 7,308
Jl ,876,906 1,861,043 15,863
= 63,000 63,000 0
S 575,394 548,461 26,933
Al ,965,339 3,864,482 100,857
A2 e AN MEo} ,023,659 2,016,013 7,646
= 160,946 153,638 7,308
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Al 2,080 2,400 A 320
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= 136,692 129,384 7,308
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Al 27,338 25,877 1,461
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= 136,692 129,384 7,308
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AEOIEE ZFH 2el 1,907,321 1,764,006 143,315
= 9,664 9,664 0
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= 204,510 177,793 26,717
Al 1,179,842 1,079,851 99,991
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gl 8.912 4,629 4,283
[ 1,782 925 857
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S 37,807 15,787 22,020
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307 21201 & 189,035 78,934 110, 101
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